








Problem #5) A 90 meter section of open-wire, lossless transmission-line with a characteristic
impedance of Zo = 50€2 is terminated with an “ideal” open-circuit.

Accurately sketch the plot (sending-end voltage vs. time) that would result from a TDR test
being performed on the sending-end of the line if the TDR injects a 250mYV incident step-
voltage (waveform) into the line. ’

(Note — assume that the TDR’s source impedance is matched to the line)
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Problem #6) For each of the following, specify whether or not each of the responses is true by writing
either TRUE or FALSE in the blank preceding each response.

A ALSE  The characteristic impedance of a coaxial cable can be increased by increasing the
length of the cable.

A 7¢ $E Ifaline is terminated with an ideal “short circuit” then both the (actual) steady-state
voltage and cur)gﬁt at the receiving-end of the line must be zero.

7RuE For normal coaxial transmission-lines, the relative permeability (#,) of the insulation
that fills the space between the conductors is assumed to be one.

AALCS&E A transmission-line that is considered lossless will always have a propagation velocity
of 3x10® m/sec.

7R4E Given a source connected to a coaxial line; if the source frequency is increased then the
wavelength of the wave on the line will decrease. 3. 7

TRuE When expressed in terms of decibels, attenuation of a wave on a coaxial-cable is
independent of the actual power of the wave (in mW) applied to the line’s sending-end.
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